[image: ]


[image: ]



[image: ]


[image: ]


[image: ]


[image: ]



[image: ]


[image: ]


[image: ]


[image: ]


[image: ]


[image: ]


[bookmark: _GoBack][image: ]
image7.png
Date: 04/09/2008 E.C
Time allowed: 30min.

1. Rank the potential difference befween points Tand 2, points 3 and 4, and points 4 and 5 in the
circuit shown below from highest to lowest.
A land2:3and 4 4and 5 3 4 5
B land2:4and5:3and4
C.3and4 4and5: land2
D 3and4-4and5; 1and2
E land2; 3and 4= 4and 5
Thelieve the best argument is
Thelieve this s the best argument because

‘The other explanations are not so good or are Wrong arguments because:

2. Compare the brightness of identical bulbs A and B in circuit 1 with the brightness of bulb C in

circuit 2 connected to identical potential difference. Which bulb or bulbs are the brightest?
AA A B c

BB T@ ®
cc |

r
D.A<B Circuit2
EAC

Thelieve the best argument is
Thelieve this s the best argument because

Cireuit1

‘The other explanations are not so good or are Wrong arguments because:
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3. Two light bulbs with 60w and 30w power are connected across the same potential difference
s shown in figure below. Rank the current values at points 1,2, 3, 4, 5 and 6 from highest to
Towest.

A513246 1 e 2

C. 5=6.3=4.1=2

D. 5=6.1=2,3=4

Thelieve the best argument is
Thelieve this s the best argument because

‘The other explanations are not so good or are Wrong arguments because:
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Date: 17/09/2008 E.C
Time allowed: 30min.

1. The figure shows four directions for the velocity vector of a positively charged particle moving
through a uniform electric feld (irected out of the page and represented with an encircled dof)
‘and a uniform magnetic field. Answer questions (i) and (i) based on this information.

(i) Rank directions 1, 2, and 3 according to the magnitude of the net force on the particle,
reatest first
A 2.2.3.4
B.2.1=3.4. 7
€ 42.1=3
D 4231
E. Impossible to determine
Tbelieve the best argument is
Tbelieve this is the best argument because

‘The other explanations are not 5o good or are wrong arguments because:

(i) OF al four directions, which might result in a net force of zero?
A1 B2 C 3 D 4 E Netforce cannot be zero.

Tbelieve the best argument is
Tbelieve this is the best argument because

‘The other explanations are not 5o good or are wrong arguments because:





image10.png
2. Consider two long. straight. parallel wires separated by a distance d, length 1 and carrying
currents I; and I in the same direction. For =24 and L=6A, which one is true about the
‘magnitude of magnetic force exerted on one wire due to the magnetic feld set up by the other
wire?

AFRSE B R-3F: © F-F3 OF-F
Tbelieve the best argument is
Tbelieve this is the best argument because

‘The other explanations are not so good or are wrong arguments because:
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Time allowed: 25min.

1. The graph gives the magnitude 5 (1 of a uniform magnetic field that exists throughout a
conducting loop, with the direction of the field perpendicular to the plane of the loop. Rank the

five regions of the graph according to the magnitude of the emf induced in the loop., greatest
first »

Aabede Bbdea=c S
Cdecbe Ddbea=c
E. Impossible to determine.

Tbelieve the best argument is
Tbelieve this is the best argument because

‘The other explanations are not so good or are wrong arguments because:

2. The figure shows self-induced emf &; in a coil. Which of the following can describe the current
through the coil
o
(4) Constant and rightward.  (B) Constant and leftward.
e
(C) Increasing and rightward. (D) Decreasing and rightward.
(E) Increasing and leftward.  (F) Decreasing and lefiward.

Tbelieve the best argument is
Tbelieve this is the best argument because

‘The other explanations are not so good or are wrong arguments because:
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1. A solid conducting sphere of radivs a carries a net positive 20. A conducting spherical shell of

inner radius b and outer radivs ¢ is concentric with the solid sphere and carries a net charge -0.
T which of the following region’s Iabeled 1, 2, 3, and 4 in figure below the electric field is zeo?

A) Region1 (r<a)

B) Region2 (a<r<b)

©) Region 3 (b<r<c)

D) Region 4 (1> C)

E) AandC

F) Impossible to determine.

Tbelieve the best argument's is/are.

Tbelieve this i the best argument’s because

‘The other explanations are not 5o good or are wrong arguments because:

2. The inner radius of 4cm and outer radius of Scm is concentric with the solid sphere and has 2
charge - 4Q 25 shown infig below. Which o the folowing i the value electric lux at 7 =lem
from the center of this charge configuration.

s 4120
Ao B [
D ¢ E. Impossible to determine.

ey

Tbelieve the best argument is

Tbelieve this is the best argument because

‘The other explanations are not 5o good or are wrong arguments because:
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1. The figure shows four wire loops, with edge lengths of either L or 2L. All four loops will move
throvugh a region of uniform magnetic field B (directed out of the page) at the same constant
‘velocity. As they move through the field, which one of the four loops produce the maximum
‘magnitude of the induced electromotive force?

Ab B.bandc
Cec D.candd

Tbelieve the best argument is
Tbelieve this is the best argument because

‘The other explanations are not 5o good or are wrong arguments because:
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Time allowed: 40min
1. Which of the following is the correct vector representation in magnitude and direction of
electrostatic force between two charges?

®
&

Tbelieve the best argument is

Tbelieve this i the best argument because

‘The other explanations are not 5o good or are wrong arguments because:
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2. Which of the following is the correct arrow that represents the direction of the net electrostatic:
force on charge located at the center?

.@@

A——> B<«— C Elhsnmpmhhmﬂaﬂnnnc

3 Whu:hofm:ﬁrﬂawmglsmccmmmvwmimmgmsm:dmmmnfm:mekcnoshhc
force on charge located at the center?

®» O
©

A—> B <— c\ D / E.Its impossible to determine.

4. Which of the following is the correct arrow that represents the direction of the net electrostatic
force on charge located at the center?

@
AHBM\/ ./

F. Itis impossible to determine.
Tbelieve the best argument is

Tbelieve this is the best argument because

The other explanations are 1ot 50 2000 OF are WIOng ar uments because:
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Date: 19/0772008 E.C
Time allowed: 20min
1. The figure below shows a positive charge +Q i enclosed by a Gaussian spherical surface.
Outside the spherical surface a second charge ~Q is placed near to it. What is the total electric

flux produced by these fwo charges?
<

Ag B 0 c = D. ’Z? E. Impossible to determine.
Thelieve the best argument is

Tbelieve this is the best argument because

‘The other explanations are not 5o good or are wrong arguments because:

2. Fora Gaussian surface through which the net flux is zero, the following four statements could be
true. Which of the following statements must be true?
A/ There are no charges inside the surface.
B/ The net charge inside the surface is zeto.
C/ The electric field is zero everywhere on the surface.
D/ The number of electric field fines entering the surface equals the mumber leaving
the surface.

Tbelieve the best argument is .
Tbelieve this is the best argument because

‘The other explanations are not 50 good or are wrong arguments because:
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Date: 21/072008 E.C
Time allotted 30min
1. A spherical Gaussian surface surrounds a point charge Q. Which of the following statement's

is/are correct about the total flux through the surface?
(&) Ifthe charge is tripled. the flux throvgh the surface is tripled.
(B) Ifthe radivs of the sphere is doubled. the flux is also doubled.
(C) Ifthe surface is changed to a cube, the flux does not change.
(D) Ifthe charge is moved to another location inside the surface, the flux also changes
Tbelieve the best argument is

Tbelieve this i the best argument because

‘The other explanations are not 5o good or are wrong arguments because:

2. Aninsulating solid sphere is Scm in diameter and carries 2 6yC charge uniformly distributed
throughout its interior volume. Calculate
(a) the charge enclosed by a concentric spherical surface with radius 2cm.
(b) the electric flux enclosed by a concentric spherical surface with radius 2cm.
(©) the electric field at  distance of 3em from the center of the sphere.
‘Work out this problem by writing the necessary steps here.
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Date: 03/08/2008 E.C
Time allowed: 30min.
Figure below shows sets of equipotential surfaces in uniform electric field. The electric potential is

indicated for each equipotential surface.
1-

Answer questions 1 o 3 based on this information.
1. What i the direction of the electric field?
A Upward ~ B.Downward CRight D Left
Tbelieve the best argument is
Tbelieve this is the best argument because

The other explanations are not 5o good or are wrong arguments because:

2. Inwhich path's do you think that work done in moving a test charge is zero?
A Fromito2 B From2to3 CFrom3to4 D Fromdtol

Tbelieve the best argument is

Tbelieve this is the best argument because

The other explanations are not 5o good or are Wrong arguments because:

3. Inwhich paths is/are the work done by the electric field is in moving a test charge positive?
A Fromito2 B From2to3 CFrom3to4 D Fromdtol

Tbelieve the best argument is

Tbelieve this is the best argument because

The other explanations are not 5o good or are Wrong arguments because:
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Time allowed: 30min.

1. The figure here shows three cylindrical copper conductors along with their face areas and lengths.
Rank them according to the current through them. greatest first, when the same potential difference

Vis placed across their lengths

Tbelieve the best argument is

Tbelieve this is the best argument because
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‘The other explanations are not so good or are Wrong arguments because:

2. The following table gives the current # in amperes) through two devices for several values of
‘potential difference ¥ (in volts). From these data, determine which device does not obey Ohm’s

Taw.

Dovice 1
v i

20 450
30 675
100 9m

Thelieve the best argument is

Device 2
v i
20 150
a0 2
a0 280

Tbelieve this is the best argument because

‘The other explanations are not so good or are Wrong arguments because:





